Unit 10

Exercises

1. Transcribe and put in all the vowels and signs:

@ o e Ml g
(b) Y N U

© A =
(d) U..:.JJ‘ (ﬁ dﬂ.ﬂ

i. Theword 4JI in (a) above is genitive because .......ccociveiriiiiecee e

ii. The words V‘?—J’“ O_Q})j\ in (a) above are genitive because they agree with ..........cccc.co.........
iii. Theword «U in (b) above is genitive because it is controlled by .............

iv. The word ) in (b) above is genitive because it agrees with the word ..............

v. The word Q,:«l_xj\ in (b) above is genitive because it is ........... ceoevueennn.

vi. The words f"?.f“ O—"‘"J'” in (c) above are genitive to agree with .............. in (b).

vii. Theword Glls in (d) above is genitive to agree with .............. in (b).

viii. The word Q.;..U\ in (d) above is genitive because itis ........... .ccvneee.

2. Putin all the vowels and signs and copy . Attempt to write the Surah from memory.

@) sy J}.‘«T;L; ...........................................................................
(b) u,,L;_S\ 4_$l u_.,u\ L 1 P T AD o Dt o e Gt .55

(©) wL,J\ Uﬂ‘f*’j}‘;‘; PR
(d) JU‘JJMJU”}“ﬁLS'U‘ ...........................................................................
(e) wu\ 9 2;_,}8\ P

i. The word :u; in (a) above is genitive because it is controlled by ..............

ii. The word u.uGJ\ in (a) above is genitive because it is .....cce.  ceereeennnn.

iii. The word :‘_l{:o in (b) above is genitive to agree with .............. in line (a).

iv. The first w&‘ in (b) above is genitive because itis ......... .o

v. The word ;«jl/ in (b) above is genitive to agree with .............. in line (a).

vi. The second u.oLfJ\ in (b) above is genitive because it is .......... .o
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vii. The word }.Ia in (c) above is genitive because it is controlled by ........cccoceeieenen.

z 7 -7

viii. The word u“")""'ﬁj‘ in (c) above is genitive because it is......ccccee.  cerieiiienn.
ix. The adjective u,ul.:_;j\ in (c) above is genitive because it agrees with...........c.cccceeene
X. The word u»U\ in (d) above is genitive because it is......c....  eoeieeeeen.

. The word 4:.>=3\ in (e) above is genitive because it is controlled by ..........cccccceeeieene.
xii. The word u»u\ is genitive because it is controlled by .........cccccoeeenn

3. Translate into Arabic, putting in all vowels and signs:

(@) In the way of God

(b) In the messenger of God

(@ In the book of God

(d) Inthe mercy of God

(e) In the religion of God

7. The three sentences below are repeated in the Qur'an. Translate and memorize.

s 8 -

Those :they.are the.......ooovvvvveeeeoeeeeereeeee O fJUaJ\ e dL_S j‘

s 8 -

........................................................................... d}JwL‘».“r.A gﬂ-_b‘

s 8 -

........................................................................... o}».\.u_“ra gfl._b‘
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